
A x2
M10 x 120

B x4
M10 x 60

Cx6

Dx2
SHORT

Dx2
LONG

Ex4
M10 x 170

Fx4
M8 x 90

Gx8
M8 x 80

Gx8
M8 x 80

Hx34
M6 x 40

Hx34
M6 x 40

E I I K

H

F

F

J

J

J

J F

F

C

D 
LONG

D 
SHORT

C

A

K
I

B

C

G

J

B

Ix14

Kx10
M10 Nylon
Lock Nut

Jx12

Jx4

Jx12Lx2 Mx3

A x2
M10 x 120

B x4
M10 x 60

Dx2
SHORT

Dx2
LONG

Cx6

Ex4
M10 x 170

Ix8 Kx4
M10 Nylon
Lock Nut

Ix6 Kx6
M10 Nylon
Lock Nut

Fx4
M8 x 90

Patio Swing
Patio de pivotement 

Patio Columpio

PWC-331-S

18

Limited 1-Year Warranty
1) The warranty is a consumer warranty and applies only to products manufactured by CorBrands Distribution, LLC. 
under the name brand CorLiving. Products must have been purchased from an authorized CorLiving Distributor or Dealer, 
recognized by CorBrands Distribution, LLC.
2) The warranty period is from the verified purchased date of the product. The warranty is expressly limited to the 
replacement of components having manufacturer defects only and on current available models. 
No assembly labor is included. Possible replacement of components or parts does not extend this limited warranty or begin 
a new warranty period.
3) CorBrands Distribution, LLC. products are warranted to the original purchaser and are not transferable. 
The warranty is limited to defects in manufacturing, materials, and workmanship. This warranty does not apply to normal 
wear and tear. If the product has been subject to abuse, misuse, improper care or use of the product, the warranty is void.  
CorBrands Distribution, LLC. WARRANTY DOES NOT COVER ADJUSTABLE SHELVES.
4) The consumer has purchased this as a Ready-To-Assemble product, which involves “Do-it-yourself”, assembly, including: 
handling, transporting, assembling and erecting the product. CorBrands Distribution, LLC. shall not be liable for incidental or 
consequential damages, which results through the use of CorBrands Distribution, LLC. products. 
5) This warranty includes any statutory legislation in the jurisdiction where the product is purchased and does not exclude or 
limit your legal right.
6) Warranty service is available by contacting CorBrands Distribution, LLC. Warranty period to be verified by date of 
manufacturing and original/receipt of sale. 
La Garantie Limitée pour 1 Ans
1) La Garantie est une garantie-consommateur applicable aux produits fabriqués par CorBrands Distribution, LLC. sous la 
marque CorLiving. Il faut absolument que les produits soient achetés d’un distributeur reconnu par CorBrands Distribution, 
LLC. à vendre les produits.
2) La Garantie commence le jour auquel le produit est acheté.  La Garantie est expressément limitée pour le remplacement 
de la/les piece(s) qui est/sont défectueuse(s) et sur les models qui sont encore en fabrication.  
Il n’y a pas de service d’assemblage. Le remplacement des pieces et composants ne repousse pas la période de la 
Garantie limitée et il ne signale pas une nouvelle période de garantie.
3) Les produits de CorBrands Distribution, LLC. soient garanties pour l’acheteur original.  La Garantie n’est pas transférable. 
La Garantie est limitée aux défauts de fabrication, aux matériaux, et au travail.  La Garantie est que pour l’usure normale. Si 
le produit est soumis au: maltraitement, le soin ou l’usage impropre, la Garantie est nulle. LA GARANTIE DE CorBrands 
Distribution, LLC. NE COUVRE PAS LES TABLETTES RÉGLABLES.
4) Le consommateur a acheté ce produit comme un meuble Prêt-à-Assembler, avec les responsabilités 
de bricolage comme: le transport, l’assemblage, et la construction. CorBrands Distribution, LLC. n’est pas responsable pour 
les dommages accessoires ou conséquences que résultent de l’usage d’un produit de CorBrands Distribution, LLC.
5) La Garantie inclus toute législation statutaire dans la jurisdiction ou le produit est acheté et n’exclus ni limite le  
droit juridique. 
6) La service pour la garantie est disponible en rentrant en contact avec CorBrands Distribution, LLC. La période de 
garantie doit être vérifié par la date de fabrication et le bon d’achat original.
Garantía de solo un año
1) La garantía, es una garantía del consumidor y es aplicable solo a productos manufacturados por CorBrands Distribution, 
LLC. bajo la marcas de fábrica CorLiving. Los productos tienen que haber sido adquiridos a través de un distribuidor 
reconocido y autorizado por CorBrands Distribution, LLC..
2) El período de garantía empieza desde la verificada fecha de compra del producto. La garantía es expresamente limitada 
al reemplazamiento de partes que tengan defectos de  manufactura solo en modelos actuales disponibles. La labor de 
ensamble no está incluidos. El reemplazamiento de ciertos componentes y partes no significa que la garantía se pueda 
extender o que un nuevo período de garantía se inicie.
3) Los productos de CorBrands Distribution, LLC. son garantizados solo al comprador original y no puede ser transferible. 
La garantía es limitada a defectos de manufactura, materiales y de ejecución. Esta garantía no es aplicable al desgaste 
normal. Si este producto ha sido sometido al uso erróneo, abuso, cuidado inapropiado del producto, la garantía será 
anulada. 
LA GARANTÍA DE CorBrands Distribution, LLC. NO CUBRE REPISAS AJUSTABLES.
4) El consumidor ha adquirido este producto listo para ensamblar, lo cual implica ensamblado de “ Hágalo usted mismo” 
que incluye: transportación, ensamblado y erección del producto. CorBrands Distribution, LLC. no será responsable por 
daños consecuentes o fortuitos, como resultado del uso de los productos CorBrands Distribution, LLC..
5) Esta garantía incluye cualquier legislación estatutaria de la jurisdicción de la cual el producto ha sido adquirido y no 
excluye o limita sus derechos legales.
6) Al contactar CorBrands Distribution, LLC., su servicio de garantía estará disponible. Su periodo de garantía tendrá que 
ser verificado por la fecha de manufactura y recibo original de la compra.

For fast and accurate parts requests for all replacement missing or defective parts, please visit www.CorLiving.com/parts 
*Proof of payment is necessary for all warranty requests. If you have any assembly questions please call our toll free line 
1.800.424.6710

Pour une demande de pièce(s) vite et précise pour tous remplacement de pièce manquante ou défectueuse, s’il vous plaît visitez  
www.CorLiving.com/pièces  
*Votre reçu (ticket de caisse) est nécessaire pour toutes les demandes de pièce(s). Si vous avez des questions au sujet de 
l’assemblage, s’il vous plaît téléphonez sans frais 1.800.424.6710

Para el ayuno y peticiones exactas de partes para todo el reemplazo partes perdidas o defectuosas, por favor visita  
www.CorLiving.com/parts *Prueba del pago es necesaria para todas las peticiones de garantía. Si tiene cualquier 
preguntas de la asamblea llaman por favor nuestro peaje liberta la línea 1.800.424.6710

DAMAGED PARTS? /  PIÉCES ENDOMMAGÉES? / PIEZAS DAÑADAS?
1-800-424-6710      www.CorLiving.com/parts

RUN #: 000000



2 7

Your patio furniture provides many hours of relaxation and enjoyment, so you want it to stay looking its best 
for as long as possible. Proper care and protection of patio furniture is necessary to prolong its life and keep 
it sturdy and usable.

Use a hose to spray loose dirt off of wood furniture, followed by a sponge and mild soap if needed to get rid 
of dried materials or stubborn dirt. Do not use bleach and avoid using harsh abrasives and rough scrubbers, 
as these can scratch furniture. 

If furniture is left exposed to intense sun over time UV light will cause fading and splitting of wood surfaces. 
It is best to provide a location with shade over the period of a day.

Store furniture during the off-season. Open exposure to wind, rain and snow is damaging. Most outdoor 
furniture is easy to stack and store, so during the off-season bring it into the garage if possible. If it must 
remain outdoors, cover it and put it in a sheltered spot.

General Care Instructions

Instructions générales de Soin 
Vos meubles de patio fournissent beaucoup d’heures de détente et la jouissance, donc vous voulez rester 
le regardant son meilleur pour arrière de l’avion. Le soin et la protection correctes de meubles de patio sont 
nécessaires de prolonger sa vie et le garde fort et utilisable.

Utiliser un flexible pour pulvériser la saleté lâche off de meubles en bois, suivie par une éponge et du savon 
doux si nécessaire pour se débarrasser des matériaux secs ou saletés tenaces. Ne pas utiliser d’eau de 
javel et éviter l’emploi d’abrasifs et rugueux épurateurs, comme ces peut rayer meubles. 

Si un meuble est gauche exposés à l’intense sun au fil du temps les UV va provoquer la décoloration et le 
fractionnement des surfaces de bois. Il est préférable de fournir un emplacement avec de l’ombre au cours 
de la période de la journée.

Emmagasiner des meubles pendant le de basse saison. Ouvrir l’exposition pour remonter, pleuvoir et neiger 
endommage. La plupart des meubles extérieurs sont faciles à empiler et emmagasiner, donc pendant le de 
basse saison l’amener dans le garage si possible. S’il doit rester dehors, le couvrir et l’a mis dans un endroit 
abrité. 

Instrucciones generales de Cuidado 
Sus muebles del patio proporcionan muchas horas de relajación y placer, así que desea que permanezca 
mirando su mejor mientras posible. El cuidado y la protección apropiados de muebles de patio son 
necesarios para prolongar su vida y mantenerlo firme y utilizable. 

Utilizar un manguito para pulverizar la suciedad suelta de muebles de madera, seguido de una esponja y 
jabón suave si es necesario deshacerse de materiales secos o suciedad persistente. No utilice lejía y evitar 
el uso irregular y dura abrasivos los depuradores, ya que estos pueden rayar con mesas y sillas.

Si el mobiliario se deja expuesto a sol intenso en el tiempo luz ultravioleta causará decoloración y la división 
de superficies en madera. Lo mejor es ofrecer un lugar con sombra durante el período de un día.

Almacene muebles durante el en temporada baja. Abra exposición para enrollar, llover y nevar daña. La 
mayoría de los muebles al aire libre son fáciles de amontonar y almacenar, así que durante el de temporada 
baja lo trae en el garage si es posible. Si debe quedarse fuera, lo cubre y lo puso en un lugar refugiado. 

A x2
M10 x 120

B x4
M10 x 60

Cx6

Dx2
SHORT

Dx2
LONG

Ex4
M10 x 170

Fx4
M8 x 90

Gx8
M8 x 80

Gx8
M8 x 80

Hx34
M6 x 40

Hx34
M6 x 40

E I I K

H

F

F

J

J

J

J F

F

C

D 
LONG

D 
SHORT

C

A

K
I

B

C

G

J

B

Ix14

Kx10
M10 Nylon
Lock Nut

Jx12

Jx4

Jx12Lx2 Mx3

A x2
M10 x 120

B x4
M10 x 60

Dx2
SHORT

Dx2
LONG

Cx6

Ex4
M10 x 170

Ix8 Kx4
M10 Nylon
Lock Nut

Ix6 Kx6
M10 Nylon
Lock Nut

Fx4
M8 x 90



36

Hardware list/ Liste matériel Lista de hardware 3 A x2
M10 x 120

B x4
M10 x 60

Cx6

Dx2
SHORT

Dx2
LONG

Ex4
M10 x 170

Fx4
M8 x 90

Gx8
M8 x 80

Gx8
M8 x 80

Hx34
M6 x 40

Hx34
M6 x 40

E I I K

H

F

F

J

J

J

J F

F

C

D 
LONG

D 
SHORT

C

A

K
I

B

C

G

J

B

Ix14

Kx10
M10 Nylon
Lock Nut

Jx12

Jx4

Jx12Lx2 Mx3

A x2
M10 x 120

B x4
M10 x 60

Dx2
SHORT

Dx2
LONG

Cx6

Ex4
M10 x 170

Ix8 Kx4
M10 Nylon
Lock Nut

Ix6 Kx6
M10 Nylon
Lock Nut

Fx4
M8 x 90

A x2
M10 x 120

B x4
M10 x 60

Cx6

Dx2
SHORT

Dx2
LONG

Ex4
M10 x 170

Fx4
M8 x 90

Gx8
M8 x 80

Gx8
M8 x 80

Hx34
M6 x 40

Hx34
M6 x 40

E I I K

H

F

F

J

J

J

J F

F

C

D 
LONG

D 
SHORT

C

A

K
I

B

C

G

J

B

Ix14

Kx10
M10 Nylon
Lock Nut

Jx12

Jx4

Jx12Lx2 Mx3

A x2
M10 x 120

B x4
M10 x 60

Dx2
SHORT

Dx2
LONG

Cx6

Ex4
M10 x 170

Ix8 Kx4
M10 Nylon
Lock Nut

Ix6 Kx6
M10 Nylon
Lock Nut

Fx4
M8 x 90



54

21

A x2
M10 x 120

B x4
M10 x 60

Cx6

Dx2
SHORT

Dx2
LONG

Ex4
M10 x 170

Fx4
M8 x 90

Gx8
M8 x 80

Gx8
M8 x 80

Hx34
M6 x 40

Hx34
M6 x 40

E I I K

H

F

F

J

J

J

J F

F

C

D 
LONG

D 
SHORT

C

A

K
I

B

C

G

J

B

Ix14

Kx10
M10 Nylon
Lock Nut

Jx12

Jx4

Jx12Lx2 Mx3

A x2
M10 x 120

B x4
M10 x 60

Dx2
SHORT

Dx2
LONG

Cx6

Ex4
M10 x 170

Ix8 Kx4
M10 Nylon
Lock Nut

Ix6 Kx6
M10 Nylon
Lock Nut

Fx4
M8 x 90

A x2
M10 x 120

B x4
M10 x 60

Cx6

Dx2
SHORT

Dx2
LONG

Ex4
M10 x 170

Fx4
M8 x 90

Gx8
M8 x 80

Gx8
M8 x 80

Hx34
M6 x 40

Hx34
M6 x 40

E I I K

H

F

F

J

J

J

J F

F

C

D 
LONG

D 
SHORT

C

A

K
I

B

C

G

J

B

Ix14

Kx10
M10 Nylon
Lock Nut

Jx12

Jx4

Jx12Lx2 Mx3

A x2
M10 x 120

B x4
M10 x 60

Dx2
SHORT

Dx2
LONG

Cx6

Ex4
M10 x 170

Ix8 Kx4
M10 Nylon
Lock Nut

Ix6 Kx6
M10 Nylon
Lock Nut

Fx4
M8 x 90


